oo landes
Die digitale Landesbibliothek Oberdsterreich liIbibliothek

Terms and Conditions

The Library provides access to digitized documents strictly for noncommercial educational, research
and private purposes and makes no warranty with regard to their use for other purposes. Some of our
collections are protected by copyright. Publication and/or broadcast in any form (including electronic)
requires prior written permission from the Library.

Each copy of any part of this document must contain there Terms and Conditions. With the usage of
the library's online system to access or download a digitized document you accept there Terms and
Conditions.

Reproductions of material on the web site may not be made for or donated to other repositories, nor
may be further reproduced without written permission from the Library

For reproduction requests and permissions, please contact us. If citing materials, please give proper
attribution of the source.

Imprint:
Director: Mag. Renate Plochl

Deputy director: Mag. Julian Sagmeister
Owner of medium: Oberosterreichische Landesbibliothek
Publisher: Oberdsterreichische Landesbibliothek, 4021 Linz, Schillerplatz 2

Contact:
Email: landesbibliothek(at)ooe.gv.at
Telephone: +43(732) 7720-53100



( 34) . | ¢ 35 ) ‘
g' icte meteam/ag ¢/G£g "%605"""0/5 iungen tm QS\5/”2"" ember. 97'%’&6746 meteaméﬁif&ﬁ’e ﬁeaéawftunﬂen im esaeﬁtewﬂer. . J

R s == - :

| o m——— = e
Barometer, Thermometer 7 /zermometer 2 hermometer || Sauf]. varo- " Manometer e
o nach Oito von Atno- | Hyeto-
Uit i o fcey meter Guericke | Winde Witterung. :
s : ' den s ntton 11 e | it auf ¥ o ttageter, | metey. : . 4
s Correction. Barometer. in dem Schatten. » in der Sonne. llred. auf z09=0.{| 0 __r:e;h;czz%tra c{; o 5 te d Erfcheinungen der Sonne, der Planeten
RS < . ! = ¥ 3 3 . ] T | LT | [ :
EN mean | Mitt. | Nacht || Friih | Mitt. | Nockt | Frich | Mitt. | Nacht Fvish | Mits. | Nacht [{Fvian | i | wachd]| Frion | st | wackt £ {fszg 4;f jl Friih | Mittag | Nachts | Friih | Mittag | Nachis Hnd g5 EMonies. ‘r&
=Ny Uhw.\a' Uhr.|g Uhr.||7 Uhr.|2 Uhv.|9 Uhr.\|\7 Ukr.|2.Ubr.|g Uhv-\l7 Uhr.} 2 Uhv.{9 Uhr.\\7 Uy 2Unr|g Uhv|| 7 Ukr\2Uhr|9 Ulty = Hihe H’é‘fe pUhre |2 Obr. \ 9 Ubr. | 7 Uhy, | 2 Uhr, | g Uhr. : &
: , : . [ Hbhe. ‘
a v g : - ' o >
b 26 "é4 2g ‘6.0 2’6’ /gg +I4°f‘ +15°1 -{-—1407 1%,'1 +126 +1x 6 ,+ 10,7 +287 +I(I)S 9:6 4200 9():0 +-3,2144.0-4-3,0 1o, 2,73 S VW Wi | W 1 || Nebel x |fchon x |fchon 1 [l 5U. 214 fr., o % @ Entf, 5I° @ {tdlich |
" 9 il » ? y 9 & ) 2 o 2 1] () [} (3 ) D e 1] . 5 i) (Vis L 3 % . 7,
2126, 5,5|26, 5:8|26, 6,3(|4-14,5|+14.8 +14,8 imal ~+-14,01+12,5 12 3l414,2]412,7 | 97,0] 92:0] 94.0||=3.8]43.0[+3.0 210, 0670, 507]] W1 W T W 1 ||Regen 2 |[Regen 2 |Regen 2 2 : 5z° . tudlich, |
3|l26, 6,4|26, 7,2126, 7,7/l 143|145 +144)l 411,04 14,2 fx 21104 420 ol413,3|| 01,0 53,7} &7.0/-+4,0[+4.0[+40 3“ 0, 1,150, 2,13l NWz | SW1 | SWy [ Regen 2 |trio 2 verm, 1 {{{ & I
41126, 7,0126, 7,1126, 6,4|l4-14,0{+15,5(4-14,8{|+ 9-3 44,0 411,1 [ 415,21 23,0[4-11,3 86, 40,3] £6,0[l~4,2|+2,0/+3:2 4|3 3,45 SO1 | SO 1 |OSOx|jbeiter 1 |fcton 2 |verm. 2 _ . I
51126y 641265 057126, 6,7(1414,5\4-14,51 414,31 +10:0~+-14. 72 + 11,9 17,0 415:01412,0 | 85,0f 73,9] 95,0]+4:0 =-4-014-33 510y 2,030 325| SWi1 | §Ox | S Wi {[Regen 2 ftrib 2 [Regen 2 | h. € 0 : I
6l(26, 7,3|26, 7,026, 8,3}|+14,0 +15,6{% 14,7]|411.0] 4-14,3|-4- 9,7{+12,1+24,8]4-10,0 89,0 35,0 04.0+3,5|+4:3}--4s0 ¢llo, 3.12 0, 1,03l SWr | SO1x Nr tritb 2 fchon 1 |heiter 1 {|@ in der Erdf. 12° §). Ob. & 3 © 4U,ab, |
21126, ,5]26, 88126, 8,8 14,0]4-15,4{414,81-F 8:5{-4-14,0" 10,0/l 0,0{4235,3|4-11,0{l 94,0} 30,0} 80,0!{+4,6{+44,2]-+3 8 7o, 3,48 N | Nz NO 1 || Nebel 2 |fchon 2 |fchon 2 ‘
gll26, 90,1126, 8,726, 8:2||4-14,0{+16,2 415314+ 9,5{4150/-+ 9.9;'4- 152 +26,6{+410,0l 610] 23,0 79.0[i44.2|+3.8{33,3 8110, 4,635 N O2 O r |{fchon 1 |heiter 2 |beiter 2 ' _
9|126, 7,9126, 7,0126, 7,9||H14:C F17,01F 16,414+ 9,0] 4-18,3|+14:0} +16,014-27:4 +15,0{| 85.0] 37,0 86,0)|1 43| +3:2{1 32 ollos 4,830, 0,041 O1 Ox S Wr {{heiter = [fchon 2 |triib 1 ® oU. 17 frtth, %
10126, 7,7126, 7,1{26, Cydii+17,3{418:7{-418,2}~}-14,5/4-1G,1 4152}l 4-17.414-30,0l+15.88 go,0l 34,00 90,0,43,2{+43,01+4-2.0 10,0, 4,28 S Sr S 1 || Nebel 2 |{chon 2 |[tr@ib 2 «C 1in der O
11|26, 6,526, 6,6,26, 6,6{417,8+18,3 417,81 16,2|4-17,21-+13,81 4 17,0j~}-21,6 +14 81l 8oe| 59.0] 91,0l43,0(-+3.012:4 110, 2,930, 1,66)] S 1 St S 1 |{Nebel. 2 |trib 2 verm., 2 ||€ im §& V. &= ]
12126, 6,1{26, 52|26, 5.4{[-+17,2{+19:2|418,5 +14,8]421,2|4-12,6{|4-16,0}432,4|+14,0 || 90,0| 21,0} 94,0 +2,0l-+2,0143,8 12/l0, 4,77 |0y 47| S 1 Sz SWi jjtrib 2 fchon 1 |Regen 2 I
13126, 6,0{26, 6,4{26, 6,4{{417,8|+194 18,0 +13,0|+17,2{412C +136 23,6]413,4 i 87,0 31,01 83,0(|42,3|-+2,0]+2,0 / 13/'0, 4,120, 2,02]] SW1x SWo | SWiz |l veim. 1 [fchon x |verm. 2 ||C 2}, |
14126, 6,3{20, 755 26, 7.51| +17,2|418,3{417,8{4 12,0 -1-15.4 +13,2{{—4-12,614-28,81-+14,0 || 99,0/ 30,4} 82,01{~2,0|-}2,0}+2,0 14il0, 3.621c, 2,42 SV 1 W 1 Wi {{tclb 2 fchon 1 |Regen 2 = I
151126, 7.7|26, 7.0126, 8,2 +16, 814-16,7|-16,0|+1T,4|+1 1,44 10,0 41 sl 11,81410,11f 92,0] 88,01 9o,0ll43,6{42,7{+3,0 15llo, 0,78]0; 6.63{] - W 1 W 1 W 1 || Regen 2 |Regen 2 {Regen 2
36||26,10,0{26,11,6!26.11.0}|414,6 +x48 +13,6)l4 50l+ 921t 544 6,5 421,54 6,51 67,01 33.0] 81,0/|+4.21+5,3{F52 160, 2,370, 3,87||N WN|NWNi1| N 1 {HRegen 2 |verm, a {chon 1
17{/26,11,6]26,10,0 126,10,0|| 412,54 13,0,-F12,0 2,81+10,3l-4 6.0ll4 4,314-22,8|+ 7,01 84:0] 27,0 78,0 5,6]—5,81+30 17110, 3,87 NO 1 |.Orx Or1 || heiter 1 {fchon 2 [heiter 2 [{© oU. 8’ frith.
18]l26, 9,2{26, 8:2}26, 7.9l|+11,8{-+13,1 ‘i—m.’g 12l4+115,314 6,2l 77142301+ 7,71 90,0 30,0 87.01-1-5,4|45,C 45,0 18110, 4,23 : O: O2 Oxr |{heiter £ |[fchon 2 |[heiter T HC ‘
I9 20, 7,7 26, 7:9 26, 8,8 11,7{-+14,3 7 12,8~ 4,314 10,84 752 4 &i]-}-22,4|4+ 7,8 || 90,0{ 20,0 86,0||-+5,01-+3,2}-+5:0 21 1010y 4518 | Oz : 6.1 Ox fchon r {fchdn 2 fchon 2 ||C é. |
20/|26, 9,626, 9,5{26, 0.6li+ 12,0]413,6{412,7}14 5.8+ 10,0l Ol li-4- 7.3 402,814 7,21l 87,0| 28:0] 81,0l 4-5,1|45,2|+60 200y, 4,52 Oz O2 Ot |lheiter 1 lhejter 1 |heiter 2 ||C in der Erdnihe 13° == Il
23126, 0,4126; 9,126, 8,8ll--11,5413.7| 4128/l 4 42 +103!4 6,0 5714-2504 7,8 | 94,0, 24,01 78,0 +5:81+3,8145.0 21105 4,64 i Oz Orx Oz |lheiter x [heiter T |heiter 2 : '
22|26, 8226, 7,7|26, 7.4 III,S 414,31 413,614 5,8414,1{410,5 4 58|4+18:8F 1154l 92,0 44.0| 90 Ofi-F-5:0|43,7 43,2 220, 3,76 O« Wit | W 1 ||heitrer T |veim. 2 |triib 2 . (Nachtgleiche, - € im ¥
23|26, 8,2{26, 85 26, 9, 13,2]-4+13,84+ 13,5/ 4+10,2|-+14,2 4+ 0,5)l411,0{~+ 16,3|-+100 1l 96,0] 64,0{ §8,0)l--4,414-5,0 -+4,8 230, 25350, 3,25|| SW1 | S Wi SV {luib 2 verm. 2 |fchon 1 [|O=2U.55’ ab. © in2-3U.16‘,20 /fr. Herbft Tag u.
24{126,.9,1{26, 9,3126, 9.6 412,84 13,7 |+ 13.4||4- 10,0} 4=14,0] 10,0 4-10,1 | +-14.2 +12,2 || 94,0| 75,0} 96.0)1-{-5 of+4.0|~}-4,6 24]l0, 2,060, 1,35/ NWir |WSWr}8 Wi [ftrib x Regen 2 |fchdn 1 § im Q9 leqg 5
25|26, 9,3]26, 8,7126, 8,5}|-4+13,0 4-15,4{-15,0{{-1- - 8,814-15,2 Ixm -+ 0,6|4-29:8|--11,6 || 94,0} 28,0} 94.0{|+4,8~+3,°|4-3,0 25|10y 4.34 W1 SO S O |l Nebel 2 |heiter 2 {heiter 1 ||d” 10 der Sonnennihe. @ in der mittl. Oferne. ;
231126, 23126, 7,.0126, 7,8\|+14,1|416,0{416,0+ 8:2|-+16,2|+ 11814 8.8]+-30,0,4+12,0 | 99,0} 20,0 9950 -L4.314,01+43,3 26,0, 4,78 O O O |} Nebel © |heiter 1 |heiter 2
271126, 7,520, 751126, 6,71+15,0 +17,5{+16,7!!-10,2p~}17,0! 412,08 4-12,2 +33.,4i+12,4 91,0{ 18,0] 880l 43,0 42,61-4-2,0 2719, 5,34 SO S W SV || heiter 1 | heiter 2 |{chon 2
2926, 7,126, 7:4|20, 7.4{|410,01-+15,8 +15,3114-11,2|~+-13,0{4-10,0 +11,7 +13.7]4+16,5 1 92,0] 75.0| 92.0||42,0143,014-3,2 28llo, 2,360, 2,74||SW W 1 W W 1 |f Regen 2 | Regen 2 [trth 1
29126, 6.5|26, 6,1126, Gy2{{4-15,0/4151|+ T4s5]I411,C +13,5|--11,0 +xs, ~Fige1|{411,4 |1 76,2] 51,0 64,0+ 3,2 +3,o 43,2 29/l0, 3,730, 138 S Ox | SW 2 W 2 |ifchon 2 |trib 2 | Regenz :
20l[26, 6,4126 6,6(26, 6,7il+-14,0[~-10,11+15,1}I4-11,2{4-15,8) 11,2412, 8l431,01+11,8 “ 64,0] 34,0] 550l -+3,4\+2,6{+2,6 3010 4,87 SWi | SWz |SW & |{verm. 1 |fchon z |fchon 1 || 8 U. 50 ab,
Mittel aus allen obigen Beobachtungen, - l Summa |Summall  Herrschende Winde, Herrschende Witterung, .
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pp 00§ v prr | 2p per L] = -0 o o o o) o o o ° ° 5 o ° ) ; ] l und 2
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